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FEMEBEARKWh] 8,759 72.9
EHEERITHER R[] 1,002 8.3
FHEERENHREKWN] (COP=1.0018 &) 8,759 72.9
CO,REE k] 2,638 22.0
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BEERAIRLY—HER = 24 x ga x D :
(@s) = 24 x 278 x 1314 / 1000 = 8,759  [kiwh]
= 24 x 278 x 1314 x 3600 / 1000000 = 31,533 [MJ]
B STERB R B §1F) FI%h s 0.7 [-]
B 5T ER {884 1429 W]
EAREY KInthi=Y OREME - AMETOMERS S OFER 4.6 W]
BEENHYE~KER ' 120.1  [ni]
ERRELR
= KRIM®B Y OBR, D OREMR X EEOHYEKETR
= 4.6 x 120 552 [W]
EANER ENRBRE - BHRER + BEARER
() = 1429 + 552 = 1,981 [W]
BRIRK R (qa) BRRKRFK (ga) = BAKEE x HYESKEE
= 2.313 x 120.07 = 278 [W/°cl
BRREE BAREE(At) = E / qa :
(Atn) = 1981 / 278 = , 7.13  [°C]
BEEAR BEREER GENOERETER) 18 [°C]
) BERTEE RENOESETER - Atn = 10.87 [°C]
EEEAHO) = 1,314 [K-B]
EERThEER BELATL = FF1 55—
@s) BEYRTLHE (D) 0.85 [-] :
MO ERRE 10,289  [Wh/%%]
BREAT YRR
= 24 x ga x D/ n / {THOERHE
= 24 x 278 x 1314 / 0.85 / 10289 = 1,002 [¥x]

HYSERERS-YORBRATHEEE
BRERMHEERE / AIE~FKEH

= 1002 / 120.1 = 8.34 [#/mi]
BEICLSCO  BER|REMCO, 20097 —4 0.256 [ke/kWh]
e / BEVATLYE 0.301 [ke/kWh]
CO,.R&ER ,
= BEAIRLF—HEE x REHCO, / BEVATLHPE
= 8759 x 0.256 / 0.85 = 2,638 [kel

HUEREEL-VUDCO  %4EE
= CO%4ER / WHYUESRKEHR
= 2638 / 120.1 = 22.0  [ka/nd]
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